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Maths Reasoning Questions
Place Value
1) [image: ]

215 is the odd one out because the other numbers are counting in a sequence of 50s. 


2) [image: ]




The number that is 10 less than 305 is 295.


The number that is 10 less than the new number (295) is 285.



The hundreds number and the ones number are staying the same. Only the tens number is changing by 1. When the tens number reaches 0, the hundreds number changes by 1 (bridging over 100s)












[image: ]
3)



I do not agree.

The largest number you can make with 8 counters is 800. 

100s 
10s 
1s
O  O    O 

O  O   O 
 
O  O
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      6    2


6            2


2     6


4     2










Addition  and Subtraction
[image: ]5) 

False. 396 + 6 = 402
False. 504 – 70 = 434
True. 556 + 150 = 706
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6) 
45 cakes – 18 cakes = 27 cakes left.

To check using addition, there are 2 ways: 

18 cakes + 27 cakes = 45 cakes
Or
27 cakes + 18 cakes = 45 cakes 
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a) To work out: 127 – 67 = 60       Answer: 127 = 67 + 60  

b) Work out:  450 – 75 = 375 first. Then the other calculation (? + 100) must equal the 375.   Use inverse to work it out. 375 – 100 = 275.
Therefore, the answer is: 275 + 100 = 450 – 75

c) Work out: 299 – 101 = 198 first. The other side’s answer for the calculation 50 + ? must be less than 198. The number you could have for the box is any number between 0 and 147. The answer cannot be 148 as that will make both answers equal. 

7) 
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Ray cannot buy £10 + £10 or £9 + £9 as he wouldn’t have enough money to buy the third item. If he buys two footballs (£6 + £6) he will have £11 left, which isn’t the correct amount to buy any other item.

Therefore, he must have bought two boxes of chocolate £7 + £7 = £14.

Next, work out what Ray has left after he spent £14.

£23 - £14 = £9  

There is an item that costs £9.  It is the teddy bear. 

Therefore...

Ray bought two chocolate boxes and one teddy bear. 












[image: ]Multiplication  and DivisionThe pairs of numbers that could go into the boxes are:

1 x 24 = 24			6 x 4 = 24 
2 x 12 = 24			8 x 3 = 24
3 x  8 = 24			12 x 2 = 24
4 x  6 = 24			24 x 1 = 24


9)
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10) 
True:
3 x 4 = 0 + 12        
(12)  equals (12)

False:
5 x 8    >    6 x 8
(40)  is greater than (48)    

False:
28 ÷ 4 = 2 x 4
    (7)  equals (8)
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[image: ]11)The following problems that can be solved using 8 ÷ 2 are...

A rollercoaster carriage holds 2 people, how many carriages are needed for 8 people?

I have 8 crayons and share them out so people have 2 crayons each. How many people did I shame them between?

-----------------------------------------------------------



“There are 2 bags of sweets with 8 sweets in each” is a multiplication or an addition problem.  2 x 8 or 8 + 8.

“I have 8 buns and I give two to my brother” is a subtraction problem. 8 -2 
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Ben: 16 ÷ 4 = 4 buckets 

James: 28 ÷ 4 = 7 buckets

Amrit: 12 ÷ 4 = 3 buckets

Kaci: 32 ÷ 4 = 8 buckets

Jenna: 8 ÷ 4 = 2 buckets. 
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13)  
3 x 4 = 12     

12 = 3 x 4      

12 ÷ 4 = 3      

3 = 12 ÷ 4      

 







FRIDAY MATHS ANSWERS
Dip and Pick 7
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[image: ]BITESIZE FRIDAY CHALLENGES


10 + 10 = 20

17 – 10 = 7

17 – 17 = 0
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6 x 10 = 60p
3 x 5p = 15p
60p + 15p = 75p
75p – 59p (apple) = 16p
16p ÷ 2 (pencils) = 8p each
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Numbers that they can make;
358	385	538	583	835	853
Donna must have a bigger number than Amir if he can subtract his number from hers. The answer must be between 300 and 400.
If you start with Donna having the biggest possible answer, then take away the other numbers that Amir could have;
Donna 853 – Amir 358 = 495 X
Donna 853 – Amir 385 = 468 X
Donna 853 – Amir 538 = 315 
Donna 853 – Amir 583 = 270 X

Donna 835 – Amir 358 = 477 X
Donna 835 – Amir 385 = 450 X
Donna 835 – Amir 538 = 297 X

Donna 583 – Amir 358 = 225 X



[image: ]12cm
4cm
12cm
12cm
4cm
4cm
4cm

	     4cm + 12 cm 4cm = 20cm

Perimeter = 12 + 12 + 20 + 20 = 64cm
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Are these number sentences true or
false?

396+6=412

504-70=444

556 +150 =706

Justify your answers.
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Hannah has baked 45 cakes for a bun
sale. She sells 18 cakes. How many
does she have left? Check your
answer by using an addition.
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Work out the missing numbers

7=+

O +100=450-75
200-101>50+(J
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These items are sold in a shop.

B =0

Ray buys three items.
Two of them are the same item.
He spends £23

What items does Ray buy?

How do you know?
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What pair of numbers could be
written in the boxes?

OO0 -2

True or false?
Put these statements into two piles.
Explain why.

3x4=0+12
5x8>6x8
28:4=2x4




image11.png
Which of the problems below can be
solved using 8+ 2?

~There are 2 bags of sweets with 8
sweets in each. How many
altogether?

-A rollercoaster carriage holds 2
people, how many carriages are
needed for 8 people?

-1 have 8 crayons and share them out
50 people have 2 crayons each. How
many people did | share them
between?

-I'have 8 buns and | give two to my
brother. How many do | have left?
Explain your reasoning for each.
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*  Atthe fair, how many buckets did each
person knock down?

W W
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Use the array to fill the number
sentences below:
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24 grouped info 3s = 8
(24:3=8)

30 grouped info 3s = 10
30:3=10)

8+10=18

He can make a fotal of 18 stacks
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Challenge 1

Can you work out the values of each shape?

+

€e
€ * %

20
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Challenge 2

Tom has six 10p coins and three 5p coins. He buys an apple for 59p and two.
pencils

He has no money left. How much does a pencil cost?

>5% |
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Challenge 3

Here are some digit cards

Amir and Donna each make a three-digit number using all the cards.

Amir noices that when he sublracts his number from Donna's number he gets an
answer greater than 300 but less than 400.

What numbers did they make?
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Challenge 4
Five identical rectangles are put together to make a large rectangle.
The width of one rectangle is 4cm. Work out the perimeter of the large rectangle.

4cm
>

As a rough guide of difficulty level

- Challenge 1 and 2 are suitable for ages 5to 7.

- Challenge 3 and 4 are suitable for ages 7 to 11

We want everyone to get involved with challenge day, so

‘work together to solve as many as you can and share
your solutions!
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Year 3 Arithmetic Test 5 testbase
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Circle the odd one out.
100, 150, 200, 215, 300
Explain how you know.

True or False.
If 1 count in 100s from 0, all the
numbers will be even. Convince me.

Always, sometimes, never

All multiples of 50 are multiples of
100 therefore all multiples of 100 are
multiples of 50.
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Emily has made the number:

(1)

Write down the number that is 10
less than 305.

Now write down the number that is
10 less than this new number.

Explain what is happening to the
number each time.

What is the 10™ answer in this
pattern?

536-10=526
526-10=516
516-10=506

How do you know?

True or False

When | add 100 to any number, | only
need to change the hundreds digit.
Show me an example.
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Alice says ‘The number in the place
value grid is the largest number you
can make with 8 counters.’

Do you agree?

Prove your answer.

100s [ 10s 1s

2.. [
e
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Match the number in words to the
number in numerals. Fil in the missing
numbers.

Four hundred 4
and sixty two

Four hundred 7
and twenty six

Six hundred 4
and forty two

Two hundred 3
and sixty four





